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QUESTION 1

Refer to the exhibit. 

What can a network administrator determine from the output in the exhibit? 

A. The switch will boot the primary software on its next boot. 

B. The switch has no software stored in the secondary slot. 

C. The switch is using the config file in the primary slot for its startup-config. 

D. The switch booted the primary software on its previous boot. 

Correct Answer: D 

 

QUESTION 2

A company wants a modular switch for the access layer at its main campus and for several branch offices. Which HP
Switch Series is best suited for this role? 

A. HP 11900 

B. HP 12900 

C. HP 5900 

D. HP 5400R 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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Based on the output in the exhibit, which statement is correct about the spanning tree protocol running in this network? 

A. Switch- is a root switch. 

B. Port 2 is a designated port. 

C. Port 3 is a root port. 

D. Port 4 is a designated port. 

Correct Answer: B 

 

QUESTION 4

Which HP solution provides network optimization and automated network provisioning to its customers? 

A. Intelligent Management Center NTA 

B. FlexNetwork Architecture 

C. Intelligent Resilient Framework 

D. Software-defined Networking 

Correct Answer: D 
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QUESTION 5

A network administrator deletes old files in the flash file system of an HP Comware switch. The administrator then
notices that the amount of free space available has not changed. Which command must the administrator execute to
free up the space from deleted files? 

A. reset recycle-bin 

B. recycle-bin cleanup 

C. cleanup recycle-bin 

D. recycle-bin empty 

Correct Answer: A 
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